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Part A

Section Id : 920906103
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906164
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 9209065160 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

U TR 1 UgehR 1 faU gU usl & IR I

e UEX o Fdl & fHIR W &1 gofl ¢, foret ure 98l § SR Ul TER1l g d¢ &
Fde M SR T 981 # H1H1 UFl T64 & SR, d<d U [Aund d<ang i g1 981 I
Ydhs] el TA-STd ¢ SR g2 U 394 TR R A4l § R TXa! &1 oiifd HIH eidl & | Tal
T gedt 1 gt fe=msil &1 |Te it € SR 98l A SH1al § | Tva adl STRdF ®f HioH Jrdt
&1 dgd Y1 4 d8 W Ugddl g1 3G U 9WiE & fo Sgrel &1 SfHI-SHl 55 g1 91Y
ol 39 <9 § Ffe-=1e war 9| sufen fafewr wmwre 7 S Aifde fed sa-1 yad H ol &
fo 39 g d @iz o Isgwidd 996 g & caa gl o SRl |

Sub questions

Question Number : 1 Question Id : 9209065161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TER T T ® |

(1)  HbTEdl BT (2) THIA
(3)  CBTHFEA (4) qAN B
Options :

92090620401. 1
92090620402. 2
92090620403. 3
92090620404. 4

Question Number : 2 Question Id : 9209065162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 1 SHTd P U 1 AU 8
(1)  WKel oI dfdaar (2) SEET HEE
(3) RS BT MY T (4) TGl & 9ER

Options :



92090620405. 1
92090620406. 2
92090620407. 3
92090620408. 4

Question Number : 3 Question Id : 9209065163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffe-Ae 79 T &1 a1 344 2|

(1) gl Hd Sl (2) Toul-Tel ARY gH
(3) YR-TREIEHAT (4) TIBIHR HF WMl
Options :

92090620409. 1
92090620410. 2
92090620411. 3
92090620412. 4

Question Number : 4 Question Id : 9209065164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& B Ul ¢ & [FAR F91 87

(1) T (2) T
(3) ™ 4)  THd
Options :

92090620413. 1
92090620414. 2
92090620415. 3
92090620416. 4

Question Number : 5 Question Id : 9209065165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farfer AT A sroet Afde v =i S+t uad &1 i

(1) ®EIPTHGIAEP
(2) BIS Tad W AHH A HI b

(3) @IS 39 JHUHE 9 Ugdl A 9
(4) B 3UP STeTal B - A1 AF b

Options :

92090620417. 1
92090620418. 2
92090620419. 3
92090620420. 4

Question Id : 9209065160 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

UK TR 1 UgehR 1 fU gU usl & IR i

TG4 UeR oW Adl & fhR R 91 g3l ¢, foret ure drel § SR Ut TIERI| Wig dT &
e gF iR 239 1 & ST Ut I & BRI, T U [Aua swewme ot g1 981 IS
Y5l SIgTol SHTd-SlTd § SR g U 3@ W 2RI A & FHW HKJ@l 1 ST AIqH Bl g1 Fal
T gedt &1 i feumsil &) ATa S € iR 98l A Si1al § | e aul STAd™ ®i Hie Jrd
&1 ggd I 3§58 W Ugddl 2| Ufe Us Uwie & foe Serell &1 SfH1-H1 &5 81 9y
Il 39 1§ nfg-Afe wan o | guien fafewr wmwrsa A sio-l Aifde ufdd ol ved s ot @
fop 39 gian o i o Tsuwidd g g o e A1gl o Skl |

Sub questions

Question Number : 1 Question Id : 9209065161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFHL o BT 3U E |

(1) HeTddl Sl (2) <l
(3)  CBTHEA @) qaAT B
Options :

92090620401. 1
92090620402. 2



92090620403. 3
92090620404. 4

Question Number : 2 Question Id : 9209065162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR P SIS B W 1 U §

(1)  WKell I ufdar (2) ST HEd
(3)  HEEI @ MHYD =™ @) TXEl P geR
Options :

92090620405. 1
92090620406. 2
92090620407. 3
92090620408. 4

Question Number : 3 Question Id : 9209065163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffg-=fe 7 91 &1 1 31 81

(1) &l Hg SFl (2) TEA-Tel RY BT
(3) IR-IRTEIEHT (4) TIEER 7 &Ml
Options :

92090620409. 1
92090620410. 2
92090620411. 3
92090620412. 4

Question Number : 4 Question Id : 9209065164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & T T3l & fHR I8 87
(1) T (2) g
(3) W 4) T

Options :



92090620413. 1
92090620414. 2
92090620415. 3
92090620416. 4

Question Number : 5 Question Id : 9209065165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farfesr AT A SrgHl F1fde wfda & S uad &1 @l

(1) @S IFIFETATD
(2) B3 W W 3AHHU 7 T g

(3) @IS 39 JH9HE A Ugdl A 9
(4) IS 3HE SIETsl Bl AFEI-SH 91 ISP I

Options :

92090620417. 1
92090620418. 2
92090620419. 3
92090620420. 4

Sub-Section Number : 2
Sub-Section 1d : 920906165
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209065166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 e, W [ ST &1 B T1 8191 U 91E | 39 1 Fd 67

(1) ¥ (2) HdIH
(3) fazmo 4) fepan
Options :

92090620421. 1
92090620422. 2
92090620423. 3
92090620424. 4

Question Number : 6 Question Id : 9209065166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o1 e, W [ ST &1 B T1 8191 U 91E | 39 1 Fd 67

(1) ¥ (2) HdIH
(3) fazmo @) T
Options :

92090620421. 1
92090620422. 2
92090620423. 3
92090620424. 4

Question Number : 7 Question Id : 9209065167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofifad # § $H-5H Usg PRS e 8
A HEY

B. H

C. 3R

D. &I

S

A< fg 7Te faeseut # 9 Tel IR @1 99 Sifo -
(1) &dd A B, D

(2) &dd DA C

(3) &dd ABE
(4) &dd B, D,E

Options :

92090620425. 1
92090620426. 2
92090620427. 3
92090620428. 4

Question Number : 7 Question Id : 9209065167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fFaferEd # 9 SH-$1H sk FRS &% 8
A Hdy

B. 4

C. 3R

D. &l

E. @I

A fAw U faseul # 9 Wl IR &1 94 Sl -

(1) &dd A, B,D
(2) &dd D, A C
(3) &dd ABE

(4) &dd B, D, E

Options :

92090620425. 1
92090620426. 2
92090620427. 3
92090620428. 4

Question Number : 8 Question Id : 9209065168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfcler 2sg H 39 g |

(1) &y (2) W
(3) ufd (4) IO
Options :

92090620429. 1
92090620430. 2
92090620431. 3
92090620432. 4

Question Number : 8 Question Id : 9209065168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e s H IUTi g |

(1) &1 (2) W
(3) Wi 4 T
Options :

92090620429. 1
92090620430. 2
92090620431. 3
92090620432. 4

Question Number : 9 Question Id : 9209065169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1y gl 1 fAaE SN

el-1 (fRTa) T 1 (3rd)
(A) TAAATEHAT (1) ST A
(B) <TG &l (1) U= S
(€) SMMRIWWIT (1) T&d IRYH HIAT
(D) TR PG (V) WeRAS ST HEAT
1 fau U faeedi # 9 W&l It &1 994 Hifeg:
(1) (A)-(), (B)-(1), (O)-(IN), (D)-(IV)
(2)  (A)-(V), (B)-(11), (C)-(1), (D)-()
(3)  (A)-(), (B)-(IN, (O-(I), (D)-(IV)
(4)  (A)-(1), (B)-(I1), (C)-(IV), (D)-(1)
Options :

92090620433. 1
92090620434. 2
92090620435. 3
92090620436. 4

Question Number : 9 Question Id : 9209065169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 & 1 G 11 B e i

-1 (HETa) It -1 (1)
(A) TSIERIUS ST () U EN
(B) T (1) T S
(C) SMMRIWWIGAT (1) TEd IRYH HAT
(D) R P EdH (IV) WeRATS S BN

12 fau e fasedi H 9 931 IR &1 994 S

(1) (A)-(lI) ) (Q)-(I), (D)-(IV)

(2)  (A)-(IV), (B)-(l), (O)-(11), (D)-(1)

(3) (A1), (B)-(In), (C)-(lH), (D)-(1V)

4 (A=), (B)-(I), (C)-(V), (D)-(I)
Options :

92090620433. 1
92090620434. 2
92090620435. 3
92090620436. 4

Question Number : 10 Question Id : 9209065170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl R d¢ aaT # DR g

(1) =N 2) THS
(3)  Sifoerifed (4) ST
Options :

92090620437. 1
92090620438. 2
92090620439. 3
92090620440. 4

Question Number : 10 Question Id : 9209065170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS deaR de aHTe H SfadR gl

(1) w9 (2) THS
3)  ifoerifaa (4) SUNH
Options :

92090620437. 1
92090620438. 2
92090620439. 3
92090620440. 4

Question Number : 11 Question Id : 9209065171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTERUI TSl U 6 % % dIfes 1 & A fava- ani & $ig A ¥9d &1 A gl St 2

(n 8 2y 16
(3) 20 4 5
Options :

92090620441. 1
92090620442. 2
92090620443. 3
92090620444. 4

Question Number : 11 Question Id : 9209065171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl TS R 6 % % I 1 & A faa- anl & $ig AfY T9d & g ol St 2

(1) 8 (2) 16
(3) 20 4 5
Options :

92090620441. 1
92090620442. 2
92090620443. 3
92090620444. 4

Question Number : 12 Question Id : 9209065172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gfd 3cot0=4 %’,ﬁl sin® 0 - cos? 0 + tan B?FIHFI%I

57 47
1 — 2) —
() 100 (4) 100
16 9
(3) >t (4) 5
Options :

92090620445. 1
92090620446. 2
92090620447. 3
92090620448. 4

Question Number : 12 Question Id : 9209065172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe 3cot0=4 %,H-’l sinZ 0 - cos? O + tan B?ﬂﬂﬂ%l

57 47
1 — 2) —
() 100 () 100
16 9
3 — £ S
(3) 5% (4) 5%
Options :

92090620445. 1
92090620446. 2
92090620447. 3
92090620448. 4

Question Number : 13 Question Id : 9209065173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT 9 10% Y W U I3UT 2 1,100 H dUT 15% @H W U diida 2 11,500 H &1
3P Hd arH ufad gl
7

5
220 el
(1) 1 llz’;:u (2) 13“ o

6 5
3) 14— 7 S b
(3) T W lags .

Options :

92090620449. 1
92090620450. 2
92090620451. 3
92090620452. 4

Question Number : 13 Question Id : 9209065173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 9 10% WY W U STl T 1,100 H TUT 15% ATH W TS cdiidad 2 11,500 H =11
IP1 Hd arH ufard gl
7

5
1 1229 2 1319
(M T @ Tk

6 5
3) 14>% 4) 132%
©) T = R

Options :

92090620449. 1
92090620450. 2
92090620451. 3
92090620452. 4

Question Number : 14 Question Id : 9209065174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 R aTd U1 & U 319 ST &) foreren &% 341 SR Brsn R 916 9 &1 %= f&ar |
e SY UPR &1 TP D1 Sl R e, Al H R R T T g

(1) H=2R (2) H=§R

(3) H=+R (4) H=3R



Options :

92090620453. 1
92090620454. 2
92090620455. 3
92090620456. 4

Question Number : 14 Question Id : 9209065174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

41 R aTdl YT & U 319 3ieffid &1 foreel &1 341 SR Bl R 916 9 &1 %=1 f&ar |
gfe S UBR a4 P DI Hdls R &, dl H 3R R & Fia+ g

(1)  H=2R (2) H=§R
(3) H=4A3R (4) H=3R

Options :

92090620453. 1
92090620454. 2
92090620455. 3
92090620456. 4

Question Number : 15 Question Id : 9209065175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e aeHiudficas i s s [Pl s Sl 1sGAd v uFad g | A s s 10fea |

H & foru SR e SR 3gHl &1 W @H &1 ATEHdl & afe Udd eH ufafe 10
He ®TH Hdl 872

(m 1 (2) 2
(3 3 4) 4
Options :

92090620457. 1
92090620458. 2
92090620459. 3
92090620460. 4

Question Number : 15 Question Id : 9209065175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ey aeHiudfecas e s s [FH s Sl 1s A i e uFd g | ST s &1 10 fea &

F & foru 31R o SR 3igHt W W @IH &1 awddl § afe U ieHt ufafe 10
He &I Hdl 87

(1) 1 (2) 2
(3 3 4) 4
Options :

92090620457. 1
92090620458. 2
92090620459. 3
92090620460. 4

Question Number : 16 Question Id : 9209065176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Afgdl & 3R 3T H¥d gU gHId A el a8 7 a1t | B gHdldl G S G g 39
Higen &1 g-a & & a2

1) (2) sl
(3) @) &
Options :

92090620461. 1
92090620462. 2
92090620463. 3
92090620464. 4

Question Number : 16 Question Id : 9209065176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Higdl F R 377 Hd gU YA A bl 98 A ardl 1 B gbdldl G B g 87 39
Higen &1 g-ird ° &1 Rl 82

(1) o (2) ofich
(3) 4) &
Options :

92090620461. 1



92090620462. 2
92090620463. 3
92090620464. 4

Question Number : 17 Question Id : 9209065177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{41 U Pp H MOTHER T QDGSNL for@1 §ITdT 8, 99 TIGER by e H feran simam?

(M SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

92090620465. 1
92090620466. 2
92090620467. 3
92090620468. 4

Question Number : 17 Question Id : 9209065177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fHHl Uh B¢ H MOTHER &1 QDGSNL ferat irdi 8, dd TIGER fod o # ferar s

(1)  SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

92090620465. 1
92090620466. 2
92090620467. 3
92090620468. 4

Question Number : 18 Question Id : 9209065178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3l & T & 3 dgd HH H JAaRyd H3- TR T-1 6912345 H fdha il ot Rufa
Jufiafdd et |

1y =Yg (2) TP
3) @ @ dHF
Options :

92090620469. 1
92090620470. 2
92090620471. 3
92090620472. 4

Question Number : 18 Question Id : 9209065178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3l & Al & 3aR dgd HH T JHHaRUd B TR W& 6912345 H fova 3fa] &1 fufa
Sufyafdd e |

(1 I (2) TP
(3) @ @) dHF
Options :

92090620469. 1
92090620470. 2
92090620471. 3
92090620472. 4

Question Number : 19 Question Id : 9209065179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I W1 a0 Helgd ad & SR B 91 ‘FHER & g A9 [vfg #x:

HYT : F YR B EH D1 GH sRP Hifcadi &1 i & aige?
dd | : Siiel, TH & [AeME® Hifd &1 Uit 8q Ugd &1 &1 Jgl U ARl € |
s 11 AT, S0 frRIrIHT TR 3BT WHYA g B |

SWRIT HY F 3l H, Hd U 1Y fdwedi 7 | Wel 3! 9a DI

(1) addd | Ooed g

(2) Paddd I HSEd T

(3) W dIdd | T dd || HoiEd &

(4) Adiad | SRAE A TH || ASlEd §

Options :

92090620473. 1
92090620474. 2
92090620475. 3
92090620476. 4

Question Number : 19 Question Id : 9209065179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®F 91 dd Tolgd ddb’ & 3R S 1 HHAR ad' & 19 g H3:

HUT ;. YR B EY D1 GH 3RIPT Hifcdl &1 a0y S g
@ | : Sitgl, T4 & fAemers it $ i 3 ugd SF 198 Uh Anf ¢ |
dd 11 : AT, S fdrara=T 3= 3BT THY g Hd |

SWRIE S F 3l H, 1 AU 1Y fdwedt 7 | Wel 3! 9a4 SIf:
(1) Haddd | Holgd o

(2) Paddd || HeEd 8

(3) AIAIdd | g1 ddb (| Holed &
(4) Adidd | AR AE Iad || Helgd g

Options :

92090620473. 1
92090620474. 2
92090620475. 3
92090620476. 4




Question Number : 20 Question Id : 9209065180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTpfa T oiifep o | i &

M|  F H D

(a) (b) (c) (d)

(1 (@ (2) (b)
(3) (9 @ (d)

Options :

92090620477. 1
92090620478. 2
92090620479. 3
92090620480. 4

Question Number : 20 Question Id : 9209065180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Pl g3 ifp s A &

M F H | D

(a) (b) (c) (d)

(1) (a) (2) (b)
(3) (@ 4 (d)

Options :

92090620477. 1
92090620478. 2
92090620479. 3
92090620480. 4

Question Number : 21 Question Id : 9209065181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁﬁmmwwwﬁﬁmﬂmﬁaﬁw%mm%mw
?

(1) §@IYER 9494 (2) ST, UraR T4
(3) DS UraR ¥4 (4) WY Ul U
Options :

92090620481. 1
92090620482. 2
92090620483. 3
92090620484. 4



Question Number : 21 Question Id : 9209065181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;@Hﬁaﬁqmaﬁrﬂwwsmaﬁﬁmuuﬂﬂsﬁﬁ%mm%mw
?

(1) §@IYE 94d (2) SrMfesd urae H49
(3) P UraR ¥4 (4) WGy UTdR YO
Options :

92090620481. 1
92090620482. 2
92090620483. 3
92090620484. 4

Question Number : 22 Question Id : 9209065182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Ty gt 1 &1 fHeaE i

a1 (93) el -1l (i)
(A)  ISTHIHG YR () FauicE, &0 IUR R, $a sMfte g
(B) I YR (1) Fa UG R $a MiUe g
(€) oI YR (1) Tord Ul W Fd ST ord 30
(D) WIS ORI (Iv) Pa uicd, $d IR 3R = &1 YaaH
WR ol 3Mfere o
12 fau e fasedi § ¥ gl IR &1 994 Sifg;
(1) (A)-(), B)-(), (©)-(), (D)-(IV)
(2)  (A)-(), (B)-(l), (©)-(1V), (D)-(11)
(3)  (A)-(V), (B)-(), (O)-(ID), (D)-(1)
(4)  (A)-(IV), (B)-(1), (O)-(1), (D)-(I)
Options :

92090620485. 1
92090620486. 2
92090620487. 3
92090620488. 4



Question Number : 22 Question Id : 9209065182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LelEEIEE e EEIE Rl

GIERGE)) T -1 (WfeH)
(A) ISR YR () od U], $H IR R, Fd R g
(B) oI YR () PaUieE ) o e g
(C) ISTE YRT (1) TS YTl R Sf1fea Jed o9y
(D) WA gR1 (V) Fd WG, $d IUR 3R &4 &1 Y&
W 31U oqg

42 feu v fasedi | 9l IR &1 I8 DI

(1 (A=), B)-(1), (C)-(), (D)-(IV)
(2) (A, B)-(11), (©O-(V), (D)-(I1D)
(3)  (A)-(V). (B)-(1), (C)-(11), (D)-(1)

)-(

(4)  (A)-(V), (B)-(1I), (C)-(1), (D)-(1D)
Options :
92090620485. 1
92090620486. 2
92090620487. 3
92090620488. 4

Question Number : 23 Question Id : 9209065183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 7 TS Hh-d dg H ¥ Ue IR g3 |

(1)  ©HEA - TiEh Tae (2) et - il Tae
(3) i - 3fda tae (4) el - \gHA Oae
Options :

92090620489. 1
92090620490. 2
92090620491. 3
92090620492. 4

Question Number : 23 Question Id : 9209065183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gId1g i A S5 44 de- H gy Ue W g3 |

(1)  THEA - U (2) &all - el G
(3) it - 3fda tee @) el - \gHA Uae
Options :

92090620489. 1
92090620490. 2
92090620491. 3
92090620492. 4

Question Number : 24 Question Id : 9209065184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRIAFFARUMNE F AP AFTFY ARMEIT A TR TS FRUR S FUH, ¢ |
AUFUT A : G H oMl B IUUT F IR A H e F I H G et 8 |

SRR : ang 7 3l Bt Juffd Y arg & v A G g § |

SR FY & 3fTdld H, i 3T T fab el 7 I a8 Iugad I D1 999 Hiforw

(1) ASRRGH Id ¢ 3R R, A DI gl ARAT &

2 ASIRREF 9d € dfd R, A 3 G AT 8] &
3) AYAE AfPAR AR

4) ASYUIE, AfBPTIRIETE

Options :

92090620493. 1
92090620494. 2
92090620495. 3
92090620496. 4

Question Number : 24 Question Id : 9209065184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & By RU TN §: U Sifidy A $ F9 H foEd § o) g1 39D SRR S U H, § |
AUBYT A : T H sl B IUFUR F RO A F A & I A G A & |

HRUIR ; Ry 7 3igal 1 U I F e H afZ e 8 |

JURIE HY & 3Tciies H, 19 iU e faswedi # 3 e Iuged IR &1 944 Hifory

(1) ASIRRIHA TAE SRR, A DI Tel AN &

2 ASRREF 9d €, Afd R A P G ARAT 1 &
(3) ATIE APAR TS

(4) AHIT, dfbTRIT T

Options :

92090620493. 1
92090620494. 2
92090620495. 3
92090620496. 4

Question Number : 25 Question Id : 9209065185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 € Y= UL & 0 3By A $ F9 F foifd 8 ol g1 38D PRUR S FUH, B
AUBHYT A ©  URd P WfAuH U adien iU g |

HRUR: T dfddsd Jayd USRI DI Iuds] HIA & |

SWRIE $YA & 3l H, g fU T fahedi § 9 968 Iuge IR 1 94 Hifog
(1) ASIRRGH T E 3R R, A DI el ARAT &

(2) ASRRIA THE, AfFTR A B &l ARA Tl &

3) AY9UE APARNEIE

4) AS3UIE AfFTIRITE

Options :

92090620497. 1

92090620498. 2

92090620499. 3
92090620500. 4

Question Number : 25 Question Id : 9209065185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

9 € Hy= RRU U & 0 3ifimye A $ &9 T fo1ad § ol g8 38D PRUIR S &Y T, §
AUBYT A . URd FT HfayH U adien Giaur g |
HRUR: T dAfddd Jayd USRI oI Iuds HIAT & |
SWRIE $YA & 3l H, - iU 1 [ahedl § 9 968 Iuge It 1 944 DI
(1) ASIRREH I ¢ 3R R, A B Y&l RS ¢
(2) ASRRGH TAE APBAR A DI ol ARA T8l &
(3) AYAE AfPAR A
(4) A3Y9Y g, dfd R T B
Options :
92090620497. 1
92090620498. 2

92090620499. 3
92090620500. 4

Part B: Applied Arts
Section Id : 920906104
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906166
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209065186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following one of the process of creating a TV Commercial (Ads) Advertisement

(A) Client briefs the Agency’s accounts people
(B) Seript / Story board

(C)  Agency's strategy Review board

(D Client Approval

(E) Creative Strategy

Choose the correct answer from the options given below :

(1) D.E,BCA
(2) A,C.D,BE

(3) A CEBD
(4) E.ABCD

Options :

92090620501. 1
92090620502. 2
92090620503. 3
92090620504. 4

Question Number : 26 Question Id : 9209065186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A R R WA 919 SAauide [3RE uR #39 & FeffEad uipar g1 sE adl e o
Fafg Hifer:

A, UIES Uil & a1 faHm & HHE] B URIY a1 g

B. W ®ul/HeHlals

C. UolHt &1 H-ifa gl Hed @1s)

D. UE® &I AqHIEA

E. &S Bt

1 fau U fasedi A @ Hel I &1 98- Dol

() D,EBCA (2) A CD,BE

3) ACEB,D (4) EABCD
Options :

92090620501. 1
92090620502. 2
92090620503. 3



92090620504. 4

Question Number : 27 Question Id : 9209065187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are the steps of creating an advertisement in manual mode. Arrange in correct
sequence:

(A) Thumbnails or First Rough

(B) Vizualisation

(C)  Large size roughs

(D) Stereas, plates ete. Depending on printing process

(E) Cut and paste lettered comprensines

Choose the correct answer from the options given helow :

) ABCDE
) B.ACED
) C,E,BAD
) E,C,B,D A

—

1
(2
(3
(4

Options :

92090620505.
92090620506.
92090620507.
92090620508.

AW N~

Question Number : 27 Question Id : 9209065187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



graIferd adie O faemo duRr &= Sfere Rufif@ad o gl

A TS 91 UYH Hidt 1 S (1)

B. WMHY-g¥H

C. €3 BRI HI TUEN

D. v ufssar & smur R, W), wew onfe

E. e 3R U dcs HHURA

i feu o faeed! & 9 wgt I &1 994 Sifeu:

(1) ABCD,E ) B.ACED
3) CEBAD @) ECBDA
Options :

92090620505. 1
92090620506. 2
92090620507. 3
92090620508. 4

Question Number : 28 Question Id : 9209065188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of the following inventions / development, of era wise

(A)
(B)
(C)
(D)
(E)

Movable Type
Lithography
Hieroghyphs
Paper

Adobe post seript

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

DA C B E
C.,DLA B E
C.A.D, B E
D.C.,ABE

Options :

92090620509. 1
92090620510. 2
92090620511. 3
92090620512. 4



Question Number : 28 Question Id : 9209065188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad sfaspri @), gar 4&l i d afyd Sifs:
A Td9d (Id) TTgY

B. Rramgu wer (e

C. ereithal

D. @A

E. 3ffeld Ui f&pp

-t fou 7Y fased # 4 H8l IR B 99 S

(1) DACHE (2) C D AB,E
(3) CADBE (4 D CABE
Options :

92090620509. 1
92090620510. 2
92090620511. 3
92090620512. 4

Question Number : 29 Question Id : 9209065189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of the Traditional paper on the basis of their size in ascending
order.

(A) Royal

iB) Crown
) Imperial
i Elephant
(E) Emperor

Choose the correct answer from the options given below :

(1) B.C.AED
(2) CBAED
(3) ABDEDZC
(4) E.C.D A B

Options :
92090620513. 1



92090620514. 2
92090620515. 3
92090620516. 4

Question Number : 29 Question Id : 9209065189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QIR ST &, 3P HTHR & YR U, el vH H Tal A &1 =194 feforn
A Udd

B. w3

sfufge

uferthe

E. TR

- feu e fawedi # 3 w8 SR &1 994 i

(1) BCAED (2) CBAED
(3) A B.DEC 4 ECDAB

it
D.

Options :

92090620513. 1
92090620514. 2
92090620515. 3
92090620516. 4

Question Number : 30 Question Id : 9209065190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct chronological sequence of the Design movement

(A) Art Nouveau
(B) Post modernism
(C) Industrial Revolution

(D Constructiviam
(E) Digital Revolution

Choose the correct answer from the options given below :

(1) AC,B,D.E

(2) CADBE

(3) B,C,ADE

(4) ADBCE
Options :

92090620517. 1
92090620518. 2
92090620519. 3
92090620520. 4

Question Number : 30 Question Id : 9209065190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&SI 3iigie & 9g! BIcihH &I 90 DI
SHTE A
wadi snyfedmang
AT i
NECIGIES
£ fefoea s

1) ACBDE (2) C,ADBE
3) BCADE (4 A DBCE

>

o 0 W

Options :

92090620517. 1
92090620518. 2
92090620519. 3
92090620520. 4



Question Number : 31 Question Id : 9209065191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In contest to Typography, choose the correct chronology standing from the earlist

(A) Black letter
(B) Bauhaus / swiss modern
(C) Classiecal / Humanist

(D)  Transitional Typeface
(E) Modern / Didone

Choose the correct answer from the options given below :

(1) AEDCB
(2) ABDCE
3 AD BEZC
(4 ACCD,EB

—

)
)

Options :

92090620521. 1
92090620522. 2
92090620523. 3
92090620524. 4

Question Number : 31 Question Id : 9209065191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
chUreraTaTd & e # urfian @ At et SIawd &1 99 Pifee

A &b dcY

B. ader/daiéa

c. Fufhsdgghfie

D. eifvrg-d erguthy

E. HigH/SEeA

-t fu e fasedi ¥ & wet IR &1 954 B

(1) AED,CB () AB,D,CE

(3) ADBEC (40 A C,DEB



Options :

92090620521. 1
92090620522. 2
92090620523. 3
92090620524. 4

Question Number : 32 Question Id : 9209065192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In contest to photography, choose the correct chronology, starting from the earlist invention.

(A) Camera Obscura

(B) Modern Flash Bulb

(C) Polarcoid Camera

(D) Kodak Roll Film Camera
(E) Digital still camera

Choose the correct answer from the options given below :

(1) ADBCE
(2) A C.D,BE
(3) ACBDE
(4) ADCBE

Options :

92090620525. 1
92090620526. 2
92090620527. 3
92090620528. 4

Question Number : 32 Question Id : 9209065192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIeTE! & e 1 urelF snfdssR 8 e Yal Sasd & 994 fefom:

A FIRI TG

B. ofyfie i e

C. UNRIZS &

D. ®Is® Id ftbed HHA

e, fefoea fRea s

R feu e fasedt ® @ 9 I @1 99 ST

(1) ADBCE (2) A CDBE
3) ACB,DE (4 ADCBE

Options :

92090620525. 1
92090620526. 2
92090620527. 3
92090620528. 4

Question Number : 33 Question Id : 9209065193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following option selected the appropriate commandments of outdoor creative are:

(A)
(B)
(C)
(D)
(E)

Body copy is provided to describe the product features

The key word or phrase are highlighted

The message in outdoor media should be brief consising 3-5 words.
The message should be longlife.

Contrasting colours are used to attract attention.

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

B, C, Donly

B, C.D, E only
A C, D, Eonly
A B, C, Donly

Options :

92090620529. 1
92090620530. 2
92090620531. 3
92090620532. 4



Question Number : 33 Question Id : 9209065193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafed fawad # & snace fhafea & Suge smieies &1 94 fEiom
A I & fadwaref &1 3fad B3 Bfew aTSt Sid gear s ot @
B. TSI Yedl / Ugs & IR fbar S @

3T3CER Hifsa # ¥ 3-4 Wsd] a gl Hifwd g =fge

< ured T AIfey

E. eqHIeYur & forg Siefl, 31, w0 anfg & firg wiany &1 wan foan s @
-1 fau e fasedi § @ w6t I &1 999 Hif

&
D

(1) B,CD 2) B CDS3RE
3) A CDS3RE (4) A BCD
Options :

92090620529. 1
92090620530. 2
92090620531. 3
92090620532. 4

Question Number : 34 Question Id : 9209065194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following options are the advantages of News paper Advertising

(A} They offer wide variety of sizes & positions for ads

(B) Newspaper advertisements are easy to prepare and is one relatively expensive
medium

(C) Newspapers have short life span
i Loeal advertizing is possible only in newspapers

(E) Newspapers have wide reach.

Choose the correct answer from the options given below :

(1) A, C,Donly
(2) B, C, Donly
(3) A, B, Conly
(4) A D, E only

Options :



92090620533. 1
92090620534. 2
92090620535. 3
92090620536. 4

Question Number : 34 Question Id : 9209065194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofefed faawd & & sraari & fagre &3 & o g §

A I fageme & fore sieR ok wH & aues fafawar gia €

B. HREER! fAg-To GuR & ® S 81 € ofk ardersy & wem "y §
C. 3EER HeUHId & IUGNT & gid &

D. R fagTg ad sraari #H g §

E. 3@eRl ) oIUs Ugd gl @

F1a feu v fawedl § @ 98! I &1 994 ST

i ACH 25 BED
(3) ABC 4 ADE
Options :

92090620533. 1
92090620534. 2
92090620535. 3
92090620536. 4

Question Number : 35 Question Id : 9209065195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which amoung the following are related to camera.

(A) Hotshoe, flash button, Zooming, focal length

iB) View finder, focus length, LCD screen, Image plavback.
() Portrait, Landscape, Pararoma, Sports, Archival

(D) Sutter speed, Aperture, Focal length, Focusing distance

(E) Wide angle, Prime lense, Zoom lens, Al lense

Choose the correct answer from the options given below :

(1) A B, Conly
(2) C. B, E only
(3) A B, Donly
(40  C,A Eonly

Options :

92090620537. 1
92090620538. 2
92090620539. 3
92090620540. 4

Question Number : 35 Question Id : 9209065195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafed # 9 frae ddy FRA

A TRY W ge, S i, wiew dy

B. T WESY, By oY, Tadist Bhiv, 3 W
Trex ©fts, SR, Wiey oy, drsRi g

E 91358 U, UISH o, U3MIS O

.
D

A fen o fawedl © @ 9et I &1 994 i
(1) A B C 2) C BE
(3) ABD 4 CAE

Options :

92090620537 1
92090620538. 2
92090620539. 3
92090620540. 4



Question Number : 36 Question Id : 9209065196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Amoung the following option, choose the important funetion of Advertising

(A) Provides reminders & reinforcement

(B) Provides product for sales on the Hetail shelfs
(C) Provides product & Brand information

(D Provides incentives to take action

(E) Provides feedback to the customers

Choose the correct answer from the options given below :

(1) A B, Conly
(2) A, C,D, Eonly
(3) A, C, E only
(4) A, C, Donly
Options :
92090620541. 1
92090620542. 2
92090620543. 3
92090620544. 4

Question Number : 36 Question Id : 9209065196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad fawedt & 4 fago= 33 & agayl s &1 997 &

A TEIRS SR T USH 3l 8
B. fed <iew W o vem S 8

C  JdE AR sy daeh GFAm ugH F¥dr 8

D. AR B P N UieHTE UGH Hdl ¢

E. UEH & Blgdd UgH Hidl &

- feu e et & & 9t I &1 99 S

(1) ABC (2} A CDE
(3) A CE 4 ACD

Options :



92090620541. 1
92090620542. 2
92090620543. 3
92090620544. 4

Question Number : 37 Question Id : 9209065197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct combination of grids used in the Layout of magazine publication.

(A) Column grids

B) Symmetrical grids
(C) Selective grids

(D)  Article grids

(E) Compound grids

Chonse the correct answer from the optioms given helow -

(1) A, B, C only
(2) A, B, Donly
(3) A, B, E only
(4) A, C,Donly

Options :

92090620545. 1
92090620546. 2
92090620547. 3
92090620548. 4

Question Number : 37 Question Id : 9209065197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UAST UhTIE & dA3M13< H U FIgq & el WIS S ugdH Hifold:

A, DlaH Ugd

B. Ricwa gy
c. Rafded gy
D. it g

E.  Suds fusy
I fau v fasedi 9 9l IR &1 99 DI

(1  ABC (2) A BD
(3) A B E 4 ACD
Options :

92090620545. 1
92090620546. 2
92090620547. 3
92090620548. 4

Question Number : 38 Question Id : 9209065198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In photography. the depth of field is dependent on which of the following options

(A) Focal length of the lens
(B) The shutter speed
() The aperture used
(D The white Balance

(E) The distance at which the lens iz focussed

Choose the correct answer from the options given below :

(1) A B, Conly

(2) A, C, E only

(3) A, D, E only

(4) A, B, Donly
Options :

92090620549. 1
92090620550. 2
92090620551. 3



92090620552. 4

Question Number : 38 Question Id : 9209065198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIeTE! # Bieg &1 TeRTs Aufufad § 3 fFy e m AR ad &
A P ey TR

B. XX BIdHd awls

C. ugEd ub fog

D. dgc gad

E @8 gl of R &9 &1 $f3d o g

1 e e et & 9 WE SRt 997 ST

(1) HddA,B,C (2) PAAA, CE
(3) ®HddAD,E (4) ®FIAA B, D

Options :

92090620549. 1
92090620550. 2
92090620551. 3
92090620552. 4

Question Number : 39 Question Id : 9209065199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which amoung the following are considered as good quality of a copvwriter,

iA) He must come out with the ‘Big Idea’

iB) He shows a prolific sence of humour
() He should not read other ad copies, especially those written by masters.
i He should socialize & observe life around him

(E) He has to think laterally and connect the visuals

Choose the correct answer from the options given below :

(1) ABCD
(2) ABD

(3) B.C,D,E
(4) A B D E



Options :

92090620553. 1
92090620554. 2
92090620555. 3
92090620556. 4

Question Number : 39 Question Id : 9209065199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad # 4 5 sidREe 1 Iad fFwar arferd 8

A ITF U gHIERTER fFER €9 9ifdu

B. faed wvra @1 & arfRe

C. 39 ol g fafad o fasraet @ wfewi el gt =nfgu

D. 39 fagad I8 91fdu &R U7 U & Sitad 1R 1R &1 91fgu
E 39 Yursffas ¢ Wi ok 23l &t gefagef < & shemm =ifge

- foT 0 fepet 7 @ U1 IR &1 90 i

(1) &ddA,B,C D (2) PAAA,B, D

3) ®ddB,C D,E (4) ®IAA B, D,E
Options :

92090620553. 1
92090620554. 2
92090620555. 3
92090620556. 4

Question Number : 40 Question Id : 9209065200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  In marketing communication, there is a transmission of a message from

sender to the receiver.

Statement 11 :  Marketing communication mix consists of 4 major tools i.e. Advertising,

sales promotion, publicity, personal selling & public Relation.
In the light of the ahove statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement I1 is false

(4) Statement I is false but Statement 11 is true

Options :

92090620557. 1
92090620558. 2
92090620559. 3
92090620560. 4

Question Number : 40 Question Id : 9209065200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR syARuIUE:
HY | GRS IR H ONS 3R Uidedal b i Taw &1 HaR0 gar @

FUTI: T SOR W ¥ 93 ¢ gl ¢ odfa fagmm &, fawt Hadh, veR, Afdas
fasht 3R Sad

IURITd HYA 5 HTdld |, A U U [dwedl § 9 el I &1 99+ Hifor

(1) FYEIRNISHI SIS

(2) HYA | SR SHI T §

(3) DY FA g, Alh HU 1l 3T B
(4) YA HHH g, Alh HUF I T &

Options :



92090620557. 1
92090620558. 2
92090620559. 3
92090620560. 4

Question Number : 41 Question Id : 9209065201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  An advertising campaign is an organized series of advertisements

having the same theme over a period of Time.

Statement 1 :  An Advertising campaign may be multi-media & may not have a united

approach.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true

Options :

92090620561. 1
92090620562. 2
92090620563. 3
92090620564. 4

Question Number : 41 Question Id : 9209065201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FYT|: Ao M sl @1 ue snafud sae © e g Ffda g 9w &
WieR Uss S |1 6

HYF I A SfiaE § gedHifEar udn 8 uddl § dfd 396! §gad S[@auRN 8, U8
AP el 8

IR HY % Hdd |, A G 7 [l § 9 9l Itk &1 994 Hifo
(1)  BYFIARNTFH AR

2) HYFISRISH T E

(3) YA T g, Wlhd YA Il ST &

4) FYTI3EIE AfPTPUT I T

Options :

92090620561. 1
92090620562. 2
92090620563. 3
92090620564. 4

Question Number : 42 Question Id : 9209065202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement [ :  Gutenberg developed the process of setting the image in relief around

1450. He is credited with the creation of modern civilization.

Statement I1 :  The credit of developing the first paper-making machine to an Amerian,

Chester.F. Carlson in 1938,
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement Il is true

Options :



92090620565. 1
92090620566. 2
92090620567. 3
92090620568. 4

Question Number : 42 Question Id : 9209065202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R s RTmE:
Y1 A T 1450 & U A 31 et Feifya $33 ot ufan fasid a1 |
36 e Taar & goid &1 99 fea s g |

YT I1: 1938 H Uy Frrg FAulE aein foefe 39 &1 99 e sdiel, 9% @

HTel &1 oldl &
SUIad YA = 3Meie d 19 feu mu fAeedl § @ ugl IR &1 9u4 i
(1) YR NISHITAE
2) PYF IR NSH T8
)

(3) HYTI I, AfpT YT WA E
4) YT e AfFTFH I TI B

Options :

92090620565. 1
92090620566. 2
92090620567. 3
92090620568. 4

Question Number : 43 Question Id : 9209065203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ : All bridge, hybrid or prosumer cameras have resemblance with DSLRs
in several respects. They ‘bridge’ the wide gap between compacts and in terms of shape, they

can easily be mistaken for a DSLR.

Statement I1 :  Most bridge cameras offers a good level of manual control, from manual

focusing to complete manual exposure. Bridge cameras respond almost

as quickly as DSLRs.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement [T is false

(4) Statement [ is false but Statement 11 is true

Options :

92090620569. 1
92090620570. 2
92090620571. 3
92090620572. 4

Question Number : 43 Question Id : 9209065203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R sy R E:

Y1 i foe, ersfers a1 IR SRl &1 sF® ofdf & S UH Ud 3R & iy FHMA
gt 8 | 3 3opfa | e @ Fiiaey & €9 & S iR F Ued’ & 30
ool Y § SITUUESR A B Yd 81 9ol ¢ |

YN ST s FARI H A Bl  dd qul A=gsfd deld ddb 3@ R Bl

TYAA here gl 2l o S e € wn ve R faad & afamar 3 ufeew
ad 2l

IURIgd HYA & fald H, A feu 7Tu f[dhedi § € el 3T &1 994 Hifolt

(1) @Y RIGH 9T &

2) FYFIARITH T T

(3) @Y TA g, Afded HUA 11 SHA &
4) SYTI TG AfbT FUTI T &
Options :

92090620569. 1

92090620570. 2

92090620571. 3
92090620572. 4

Question Number : 44 Question Id : 9209065204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ 1 Newspapers typically are available in two sizes. The first, called the

Tabloid consists of 8 to 10 columns.

Statement I1 : The standard size, or broadsheet newspaper is thrice as large as the

Tabloid size, usually 4 columns wide.

In the light of the above statements, choose the correct answer from the options given below :

(1)

(2)

(3)

(1)

Both Statement I and Statement 11 are true

Both Statement | and Statement I are false

Statement I is true but Statement I is false

Statement I is false but Statement Il is true

Options :

92090620573. 1
92090620574. 2
92090620575. 3
92090620576. 4

Question Number : 44 Question Id : 9209065204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

da @ sy REMTE:
HYT|:  IEER T ITEHR &+ B &l TR, f9H Taeise wE I 8, 390 8 © 10 Hidw

g 2

PBYT I :  HIYWU HAHR, AT Siefic IF@IR F AHR oqese FHR & dF 0 BT 2

fomd Fem 4 wiem 3149 26 8

IR HY & Maid H, A1 U e fdsedi 1 9 "l 3T &1 994 Sifou

(1)
(2)
(3)
(4)

HYF | SR G T g
HUF | 3R | ST S &
HY | T §, A HYA 1| 3T 8
HYF | 3 g, AP HYT 1| T 8



Options :

92090620573. 1
92090620574. 2
92090620575. 3
92090620576. 4

Question Number : 45 Question Id : 9209065205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements -

Statement [ :  Graphic design is a profession, an applied and practical visual art
form. It is a process of visualising and communicating concepts, ideas

and messages through the effective combination of text and image.

Statement 11 :  Graphic Deszign 1s the arranging and creating of a new image by using

various materials. It was used in China upon the invention of paper.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement [ 18 correct but Statement [ 1s incorrect
(4) Statement I 18 incorrect but Statement 11 is correct

Options :

92090620577. 1
92090620578. 2
92090620579. 3
92090620580. 4

Question Number : 45 Question Id : 9209065205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FYTI: ik feamm us saa 2, 3 9w 991 e 39 %o WET 8| 98 3R
3R feat & vl oW & sEgnona, feeri vg d@en @ oeE v 3R e
& it wfshar 1

FYT I ;.  wifees feamm g fafis amfiei & germa & v 52 fa =1 9= fea s 2
JURI HYH o el H, A1 fau e fasdbedl # @ Ugt Ik &1 987 Hifog :

(1) HYFIMRNSHI TG

(2) USRI T B

(3) BUT 1A 8, Al B 11 T B
(4 HYTI AR, AFT FH I TA R

T T

Options :

92090620577. 1
92090620578. 2
92090620579. 3
92090620580. 4

Question Number : 46 Question Id : 9209065206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I :  Signage systems make implicit use of conventions, repetition and
consistency to ensure that symbols and colour become familiar, and

people do not have to reinterpret an image each time it is seen.

Statement 1 :  Signage is one aspect of wayfinding, the process by which people orient

themselves within a physical space and navigate to different places.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement I1 are incorrect

(3) Statement [ is correct but Statement 11 is incorrect
i(4) Statement [ is incorrect but Statement 11 is correct
Options :

92090620581. 1
92090620582. 2
92090620583. 3
92090620584. 4

Question Number : 46 Question Id : 9209065206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A d sy UM E:

DU |:  Hebdsh UMl H OO, TGN HR HHIUE H FeA® a0 & g8 gHvaa
fopa wtmen 2 o weftept 3fi @ w1 v gufifea g s - @ s fed S
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(1) PSRN TTE

(2) HYFIRNTH I E

(3) Y| TA g, Alpd HUF 1| 3 FA g
(4) HYF | AT g, AfhT HY 11 T B

Options :

92090620581. 1
92090620582. 2
92090620583. 3
92090620584. 4

Question Number : 47 Question Id : 9209065207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A): Direct mail is a form of marketing that attempts to present potential
consumers with a message regarding a specific product or service.

Reasons (R): Direct mail can be in print or electronic form & both the sent “direct’ to the

advertiser for a response of their product or service.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{A) 15 correct but (R) is not correct

{A) is not correct but (R) is correct

Options :

92090620585. 1
92090620586. 2
92090620587. 3
92090620588. 4

Question Number : 47 Question Id : 9209065207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR A Y "ol WS Hihien & Uk WEY & oo aufad Iuvmst & fed

WH 39 IR AT 991 &+ 91 ° 29 U9 1 93E R = 2
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39 31 Ud T & feru e g 31 gkl 2

(1) A 3R EH Tt & 3 R, A =il T8l =51=m 2

(2) A IR GH HE 2, dfFA R A wE =mEn T@ 2

3) A ud & wfeT R wdl 7 &

(4) A @E A8 2 wfe R wEl 2

Options :

92090620585. 1



92090620586. 2
92090620587. 3
92090620588. 4

Question Number : 48 Question Id : 9209065208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A): Macro photography involves being able to project an image onto the sensor
the same size as the subject itself. Macro lenses are expensive. Extension
tubes are more expensive than a reversing ring.

Reasons (R): Reversing ring is a much less expensive to a dedicated macro lense. This

device allows vou to attach the front of the lens to the camera body. which
has to the effect greatly magnifying the subject. This option is good for

macro photography.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090620589. 1
92090620590. 2
92090620591. 3
92090620592. 4

Question Number : 48 Question Id : 9209065208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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|

HAW R : fafdf fn 9ga o= &t g § d FH gEf a2 38 3w 8 o
SEl % AT 9T I HE AE H 7T T HBA 21 30 q AR F ATH H
T8d 931 FH F INE-BA1 21 T8 fased g8 wEwmh F fow 3wt 2)

(1) A 3T R A T & 3 R, A i Tl == &

(2) A 3R R 2H 9d &, AfFa R A & GE =wen 7@ 8
(3) A Gl g afpa R odl 7 8

(4) A @ 7 8 @i R wE 8

Options :

92090620589. 1
92090620590. 2
92090620591. 3
92090620592. 4

Question Number : 49 Question Id : 9209065209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A): Packaging is a substrate that includes a printed communication, which also
performs other functions such as holding and protecting its contects from

damage, change in temperature or light.

Reasons (R): A range of different materials can be used for packaging, but cheap

lightweight materials are the most commonly used to their practicality.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) is false

(4) (A) 15 not correct but (R) is true

Options :

92090620593. 1
92090620594. 2
92090620595. 3
92090620596. 4

Question Number : 49 Question Id : 9209065209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) A 3T R THT T8l & 3T R, A <l Tt == &

(2) A M REA HE 8, AfF R A I wE e @ 2
(3) AT E AR R T T E

(4) AGETE € AR R 5 @

Options :

92090620593. 1
92090620594. 2
92090620595. 3
92090620596. 4

Question Number : 50 Question Id : 9209065210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A): In most advertising the power lies with the visual, and its primary function
1= to get attention.

Reasons (R): Designers have found that a picture in a print ad captures more than twice

as many readers as a headline does.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090620597. 1
92090620598. 2
92090620599. 3
92090620600. 4

Question Number : 50 Question Id : 9209065210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



92090620597. 1
92090620598. 2
92090620599. 3
92090620600. 4

Question Number : 51 Question Id : 9209065211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One iz labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Black and white images often convey a greater sense of gravitas or austerity

than colour.

Reaszons (R): Shooting in raw format is the best option to obtain the black and white

result, this will retain much more tonal information than shooting JPEG.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) is true but (R) is false

(4) (A) 1s false but (R) is true

Options :

92090620601. 1
92090620602. 2
92090620603. 3
92090620604. 4

Question Number : 51 Question Id : 9209065211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090620601. 1
92090620602. 2
92090620603. 3
92090620604. 4

Question
Question

Number : 52 Question Id : 9209065212 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason

(R).

Aszsertion (A): The ideas and concepts behind the symmetrical grid. asymmetrical grid and

modules can be combined through the use of a compound grid.

Reasons (R): This kind of grid provides a spread in which hoth pavs use the same layout,

normally with bias to either the left or right side of the page.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (K) is NOT the correct explanation of (A)

(3) {A) is correct but (R) is not correct

(4) {A) is incorrect but (R) is correct

Options :



92090620605. 1
92090620606. 2
92090620607. 3
92090620608. 4

Question Number : 52 Question Id : 9209065212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AMTHIT A vy, fawa firg 3 diggew & 99 & faumil 3R s@grms =« F9Ee
fire = 39 gRI H9E § AST A1 FhaT 2|

FRU R 38 YR 1 g | A fawar wm g 2 | fred g gy St Ssmee Fd
2, HIYWUA: 98 o A A1 <@ A 9 e ¥ ame den 2

(1) A 3R EH A& & 3 R, A I Tl == &

(2) A 3R R TH F8 &, AfeA R, A i wE =wEn T8 2
(3) A @ & AfeeT R Tl AE 8

(4) A wE TE 8 SfH R TE 2

Options :

92090620605. 1
92090620606. 2
92090620607. 3
92090620608. 4

Question Number : 53 Question Id : 9209065213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other 15 labelled as

Reaszon (R).

Assertion (A): There are many photo manipulation packages that help combine two or

more pictures to make a composite panoramic image.

Reasons (R): There are some digital cameras even help with the lining up process as

vou tiake each image,

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are incorrect but (R) 18 NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 15 incorrect
(4) (A) 18 correct but (R) 15 correct
Options :
92090620609. 1
92090620610. 2

92090620611. 3
92090620612. 4

Question Number : 53 Question Id : 9209065213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT A % Wil WAy Yhal 6 Weg | g1 91 9§ HAlgs a=n & e
T FHUITae 981 a&ei A1 Fehel 2l

HIT R : $9 fefea F9 t8 2 &, 5@ 39 vHh-us o3 ded ) 99 9 At
3o wfsen § gEme B E

(1) A 3R REH T&t & 31 R, A &l GE! =am@=n &

(2) A IR REHA FE E, AfHT R A i HE HTE T 2

(3) AT E e R T TE E

(4) A@H L AfF REAE

Options :
92090620609. 1
92090620610. 2



92090620611. 3
92090620612. 4

Question Number : 54 Question Id : 9209065214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last [ with Last 11 -

Last 1 Last 11
(Size) (Standard use)
(&) A5 (I} Posters & Technical Drawings
B) A4 (I) Magazines & Leaflets
(C) AB (III) Notepads, diaries
Dy Al (IV) Posteards

Choose the correct answer from the options given below:

(1) (A)-(IIT ), (By-( 11 ), (C)-( IV ), (DN 1)
(Z) (A)-(IIL), (B)-( 11 ), (C)-( 1), (D)-( IV )
(3) (A)-(IV ), (B)-( 11T ), (C)-( 1), (D)-( 11 )
(4) (A IV ), (B)-( 1), (C)-( IL ), (D)~ IIT )

Options :

92090620613. 1
92090620614. 2
92090620615. 3
92090620616. 4

Question Number : 54 Question Id : 9209065214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1% =@ g1t 1 w1 e Fifs

Tt | HER = |l 9 39g

A. A5 I OReE 3R afEER T
B. A4 1. afeemd 3 oo

C. A6 n. A g 3k safe

D. Al V. s

(1)  A-IL,B-II,C-1IV, D1

2) A-IIlL,B=Il,C=1I, D=V

3) A-IV,B-IlI,C-1, D-1I

(4 A-IV,B-1,C—II, D-1Il

Options :

92090620613. 1
92090620614. 2
92090620615. 3
92090620616. 4

Question Number : 55 Question Id : 9209065215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List I1
(A) Symbaols I} A shade of colour which dilutes
with white.
iB) Photogram (I A collection of small scale

images  the comprise a
publication pages.

{C) Thumbnail (IIT) It is made by placing an object
on light sensitive ne material
and then exposed it to light

(D) Tints (IV) A pictorial elements that
communicates a conepts, idea
or object.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(IL), (C)-(IV), (D)-( 111 )
(2) (A)-(IV), (B)-( IIL ), (C)-( 1L ), (D)-( L'}
(3) (A)-(IV ), (B)-(I1 ), (C)-( 1), (D)-( I }
(4) (A)-(IIT), (B)-( 1), (C)-(IV), (D)-(II)



Options :

92090620617. 1
92090620618. 2
92090620619. 3
92090620620. 4

Question Number : 55 Question Id : 9209065215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1% Ty gt 1w e fife)

il == I
A W | T 3 S Ebe frem & gedhl g AT 2
BIETH Il &g &R & Rt &1 dene foees s yeeH gt § 2 2
C.  dute 1. 2@ fopelt <fe =it sueht watdt wmmft o v s R @ w
{19 STt ST ST 2
pD. fé&z=m w.urm*i%;maashMW,ﬁanmaﬁmm
HAT

(1) A=-I,B-Il,C=IV, D=
(2) A-Il,B-IV,C-ll, D-|
(3) A-W,B-ILC-I D=1
(4) A-llLB-LC-IV, D-II

Options :

92090620617. 1
92090620618. 2
92090620619. 3
92090620620. 4

Question Number : 56 Question Id : 9209065216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match Last I with Last 1T -

Last 1

{Brand Name of Product)

(A)

(B)
(€)
(D)

Raga Range of Titan
Watches

Arial
Bed Eveready Batteries
Ray Ban

Last IT
{Company)
() Union Carbide

(I} Bausch & Lomb & Montain
(III) TATA
Wy P&G

Choose the correct answer from the options given below:

(1) (A)-( I ), (B)-{ IV ), (C)-( 1), (D)-( 11 )

(2) (A)-(II1), (B)-( I ), (C)-( I ), (D)-( IV)

(3) (A)-( II1), (B)-( 1), (C)-( IV ), (D)-( 11 )

{4) (A)-(IL). (B)-( IV ), (C)-( 1), (D)-( I1I )
Options :

92090620621. 1
92090620622. 2
92090620623. 3
92090620624. 4

Question Number : 56 Question Id : 9209065216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1% Wy = 1 & faem i

gl | IIE % &g AW

A I afedi it T 9

B. U=

C. 1= uaE sl

D. WA

(1) A-IL,B-IV,C—1, D-1I

2 A-N,B-I,C-I, D-WN

(3) A-IL,B-ILC-IV, D-Il

4 A-I,B-IV,C-I, D=1
Options :

92090620621. 1
92090620622. 2
92090620623. 3

aililez=cil
. g wEise
Il o= & @ & A
. 2w
Iv. &S



92090620624. 4

Question Number : 57 Question Id : 9209065217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T ¢

List I List 11
{(A) A publication which often (I) Retro

published weekly or

monthly.

(B) To describe fashions, trends (II) Pop —up
and illustrate styles of the
past

(C) The telling of a story or (lllI) Magazine
account of event In a
coherent sequence.

(D)  Three - dimensional  (IV) Narrative
structure that rises when
pages formed

Choose the correct answer from the options given below:

(1) (A)-( IV ), (B)-( III ), (C)-( 1), (D)-( 1T )
(2) (A)-(II1), (B)-( L), (C)-( IV ), (D)-( IT)
(3) (A)-(I1 ), (B)-( IV }, (C)}-( I ), (D)-( III)
(4) (A)-( 1), (B)-( IL ), (C)-(IIL ), (D)-( IV )

Options :

92090620625. 1
92090620626. 2
92090620627. 3
92090620628. 4

Question Number : 57 Question Id : 9209065217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | % W g= 1 e S

il il

A. U WSIYE HI UH: A ATHIES L f@i
a1 HTHS

B. %M, ¥ %1 3gWE HT 3R o4 . 99-319
a7 &1 =R w1 Gt s 2

C.  HHT & H hIE HaF! HaE1 91 . afeh

TAIH] 1 G0 HAT
D. Y8 eted W femH aren fBsme g v, FUieuE

(1) A-IVB-II,C-1, D=1 (2) A-NL,B-I1C-1IV, D=1
(3) A-I,B-IV,C-I, D-1lI 4 A-LB-I,C-Ill, D-1V
Options :

92090620625. 1
92090620626. 2
92090620627 3
92090620628. 4

Question Number : 58 Question Id : 9209065218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :
List I List I1
(A) Paul Rand (I}  British Sculptor &
Typographer
(B} John Baskerville (II) Moveable Type Desigsher
(C)  Eric Gill (IIT) Graphic Designer
(D) Johannes Gutenberg {(IV) Printer and Typographer

Choose the correct answer from the options given below:

(1)  (A)-(II). (B)-(IV), (O)-( 1), (D)-(1I')
(2) (A)-( IV ), (B)-(III), (C)-(II ), (D)-( 1)
(3) (A)-(1L), (B)-(III), (C)-(IV), (D)-( I)
(4) (A1), (B)-(II), (C)-(III ), (D)-(IV')

Options :
92090620629. 1



92090620630. 2
92090620631. 3
92090620632. 4

Question Number : 58 Question Id : 9209065218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot 1% = = 0w e i

il =l

A walE I fefem ficwsn & o
B.  d4 aEh@EeH Il  gawe 759 feamaw

C. uf= = . wrfee fesam

D.  SH® T Iv. e dur zreamTe

() A-Il,B=IV,C—1, D-II 2 A-IV,B-1I,C-1II, D-I
3) A-I,B-I,C-1V, D-I @ A-1,B-I,C-Il, D-1IV
Options :

92090620629. 1
92090620630. 2
92090620631. 3
92090620632. 4

Question Number : 59 Question Id : 9209065219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List IT :

List I List IT

(A) Gutter (I)' " Help to make a layout clear,
unambiguous and easy to
digest.

{(B) Hang Line (II) A consistent point on the grid
from which to hang text
blocks.

(C) Hierarchy (IIT) Used in conjuction with letter
spacing.

(D) Kerning (IV) Used to describe the space
bhetween adjacent Text
columns.

Choose the correct answer from the options given below:

(1) A1), (B)-(II), (C)-(IV), (D)-(IL)
(2) (A)-(II), (B)-(1), (O)-(IV), (D)-(II)
(3) (A-(HI), (B)-(IV), (C)-(1I ). (D)-(I)
4y  (A-(IV), (B)-(II), (O)-(1), (D)-(III)

Options :

92090620633. 1
92090620634. 2
92090620635. 3
92090620636. 4

Question Number : 59 Question Id : 9209065219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1% w1 = 0 F e ifs

il = 1
A TRA I @3 H W, Tt e w0 e s 4 Heg
HTHT
B. & @A I firs W s foR 3 9@ @ & S AT gEed
C. stk (9eshH) . e SfEe & @1y 9
D. &M IV. 7Tl & R it FI 5@ HH & folu T
(1) A=LB=ILC-IV, D=1l
2) A-WL,B-1C-Iv, D1l
3) A-NL,B-IV,C-1Il, D-1

(4) A-IV,B-I,C-1, D-1I
Options :
92090620633. 1
92090620634. 2
92090620635. 3
92090620636. 4

Question Number : 60 Question Id : 9209065220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last IT : With the Techique of engrowing process with their Reproduction

List I Last 11
(Techique) (Peproduced)
(A) Line (Fine & Detail ) (I half Tone
(B) Peneil (II}) Line Black Lonzinc or copper
(C) Photograph (III} Line Zinco
(D) Silhouette (IV) Deep Etched Half Tone

Choose the correct answer from the options given below:

(1) (A)-( 1), (B)-(IL ), (C)-( II1 ), (D)-( IV)
(2) (A)-(IV'), (B)-(IIL ), (C)-(1L), (D)-(I)
(3) (A)-(II), (B)-(IV), (C)}-( 1), (D)-( III)
(4) (A)-( IIL), (B)-( 11 ), (C)-( IV ), (D)-( T}

Options :

92090620637. 1
92090620638. 2
92090620639. 3



92090620640. 4

Question Number : 60 Question Id : 9209065220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1% = g=ht 1 = e Fifag

A oA (dferes 3 A I &% A

B. ift Il  wmEa s (e 2 i)
C  SREU® . @A foent

D. fueee Iv. € s &% oF

() A-LB-ILC-1ll, D-IV 2 A-IV,B—1I,C—1I, D-I
3) A-I,B-IV,C-1 D-Ii @ A-I,B-1I,C-1V, D-I
Options :

92090620637 1
92090620638. 2
92090620639. 3
92090620640. 4

Question Number : 61 Question Id : 9209065221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Back — lit technique is silhouette. Which among the following option 15 wrong,

(1) Position the subject directly in front of a large bright area.

(2) Silhouetter work best when vou can identify the subject only by the shape of its
outline.

(3 Usze light from behind and to the side of the subject for intenze highlights and
added drama.

(4) Use slow shutter speeds, wide apertures or high IS0 settings in low — light
conditions.

Options :

92090620641. 1
92090620642. 2
92090620643. 3
92090620644. 4



Question Number : 61 Question Id : 9209065221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sh-feTe dedie i BEtaa (faee) e o 81 Fafafea @ @ =69 = faeey mom 27

(1) =afE & et IHER T8 T G H1

(2) I a9l B9E F=8 F9d & 99 39 ik $l 9ETH had I9h1 FY0E & ATEN
HTd 2

(3) g IR 3R Afafes AedE guE @F & e = S

(4) w9 Vet el ftfeafami o onft seer nfei, |e st o e snduman Afdmg @
TR AT

Options :

92090620641. 1
92090620642. 2
92090620643. 3
92090620644. 4

Question Number : 62 Question Id : 9209065222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct attreviation of PSA

(1) Public Sector Affairs
(2) Public Sector Advertisment

(3) Public Service Advertisments
(4) Public Service Announcements
Options :

92090620645. 1
92090620646. 2
92090620647. 3
92090620648. 4

Question Number : 62 Question Id : 9209065222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dt.vm.u & He Giermen = 99 $ifam)

(1)  ufere FFT HIE (2) dfectsh HeeX USHI3HE
(3) ufers afdy vgeeis=ie @) dfes gfd saEEies
Options :

92090620645. 1
92090620646. 2
92090620647. 3
92090620648. 4

Question Number : 63 Question Id : 9209065223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wide-angle lens enhances linear perspective if used close to the nearest parts of the scene,
and can show a large foreground-to distance range.

(1) Ways of weakening perspective
(2) Ways of strengthening perspective
(3) Ways of creating shallow depth of field
(4) Ways of creating diminishing perspective
Options :
92090620649. 1
92090620650. 2

92090620651. 3
92090620652. 4

Question Number : 63 Question Id : 9209065223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fereefivl Uret o 4 T uftgya o faran g 2 Ife weanye & feean feed % frse wam
fepn stmu. 3Pk foreft g smam #1 gt T 9% fgmn w2

(1) g9 &4 9igea & s

(2) 3 9fgwE & Al

(3) hiee & WrEel Tes giad w % alie

(4) B B uigwd giaa E % 7l

Options :



92090620649. 1
92090620650. 2
92090620651. 3
92090620652. 4

Question Number : 64 Question Id : 9209065224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A promotional strategy used for Consumer & Trade Promotions are:-

(1) Positioning & Repositioning strategy (2) Push & Pull strategy
(3) Above the line strategy (4) Below the line strategy

Options :

92090620653. 1
92090620654. 2
92090620655. 3
92090620656. 4

Question Number : 64 Question Id : 9209065224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IUIeRT 3T =R fasmoHT < oy gieee 2ol 8

(1)  ifswfn ik fonfsefn 2 (2) 99 IR g T
(3) &G ¢ @A e (4) faet g @ma 2

Options :

92090620653. 1
92090620654. 2
92090620655. 3
92090620656. 4

Question Number : 65 Question Id : 9209065225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A tangible reward for a particular act, usually while purchasing a product or visiting the
point of purchase, adding value to the product is called

(1) Sweepstakes (2) Sampling
(3) Premiums {4) Rebates

Options :

92090620657. 1
92090620658. 2
92090620659. 3
92090620660. 4

Question Number : 65 Question Id : 9209065225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fereft ety & |namvE: i Iee WiieH 91 %9 T W FH, I god 4 dfg FH * fau
U A FAH 1 FHE A1 2

(1) e (2) AT UhA FHEAT
(3) Hifirm @) @/
Options :

92090620657 1
92090620658. 2
92090620659. 3
92090620660. 4

Question Number : 66 Question Id : 9209065226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pumerical series where each number 18 the sum of the preceeding two numbers in the

gsequence are called Fibonacei Number. Find the correct sequence. 1, 2, 3, 5, 8, _, _ |, 34, _,
11

(1) 15, 20, 50, 150 (2) 16, 22, 60, 160

(3) 13, 21, 55, 144 (4) 12, 30, 65, 170

Options :

92090620661. 1
92090620662. 2
92090620663. 3
92090620664. 4



Question Number : 66 Question Id : 9209065226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIE FATHS YEAI, Tg T 9@ HH H Uselt § F@ns w1 97 2, 36 et
A1 FE AWl 2l

Tél %1 79 $ifau;

1J 2|‘ 3J 5] EJ P P 3¢|’ L Bgf

(1) 15, 20, 50, 150 (2) 16, 22, 60, 160

(3) 13, 21, 55, 144 (4) 12,30, 65,170
Options :

92090620661. 1
92090620662. 2
92090620663. 3
92090620664. 4

Question Number : 67 Question Id : 9209065227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct abbreviation of (ASCI).

(1) Advertising Service Centre of India

(2) Advertising Standards Centre of India
(3) Advertising Standards Council of India
(4) Advertising Sales Council of India

Options :

92090620665. 1
92090620666. 2
92090620667. 3
92090620668. 4

Question Number : 67 Question Id : 9209065227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U, UH Hi. A & gF Hieaen &1 999 S|

(1) ugaeisfiom afda dex #ie sfem

(2) UgETEh Wesd Hel ATE Iem
(3) UgACERim Wedy wEfae W% e
(4) ugFRfa e HEfae AT st

Options :

92090620665. 1
92090620666. 2
92090620667. 3
92090620668. 4

Question Number : 68 Question Id : 9209065228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An area or field of a page lavout into which text is flowed. Pictured is a spread created by
frost Design in which the columns are used to make a strong visual statement that is integral
to the overall design.

(1) Alignment (2) Space
(3) Shape (4) Column
Options :

92090620669. 1
92090620670. 2
92090620671. 3
92090620672. 4

Question Number : 68 Question Id : 9209065228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Y8 AR H &7 A1 hie Toamd e fovan s 21 fred, wie fesmm g gfee S 2
s wae gETes HY9 IR HE % e Swiam &1 e s 2 S am fesmm
i 3 21

(1) @ 2) =9
(3) I (HATHM) 4) Hiew

Options :



92090620669. 1
92090620670. 2
92090620671. 3
92090620672. 4

Question Number : 69 Question Id : 9209065229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Advertisements which are directed by the manufactuers to the distribution channel members,
suh as wholesales or retailers, are called:-

(1) Professional Advertising (2) Industrial Advertising
(3) Consumer Advertising (4) Trade Advertising
Options :

92090620673. 1
92090620674. 2
92090620675. 3
92090620676. 4

Question Number : 69 Question Id : 9209065229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fosm fa fatmimst g e smiEl @ gen s 349 faamn ot g & e
foan = B, AW & -

(1) =araErtaes fasmE (2) aAtenfies fagmem
(3) 39vrE fasmE (4) =i e
Options :

92090620673. 1
92090620674. 2
92090620675. 3
92090620676. 4

Question Number : 70 Question Id : 9209065230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct abbreviation of AIDA model in Advertising.

(1) Action, Interest, Desire, Action

(2) Attention, Interest, Desire, Action

(3) Advertising, Interest, Desire, Action

(4) Attraction, Interest, Desire, Action
Options :

92090620677. 1
92090620678. 2
92090620679. 3
92090620680. 4

Question Number : 70 Question Id : 9209065230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fersm sa § u.amd Ehu % wd wfemer w1 == fifsw

(1) UHEHA, 32, feamn, wwr (2) YA, T2, feamrn, vmH
(3) ugaeifam, e, feamn, veE (4) 3w, T2, feamm, vwm

Options :

92090620677. 1
92090620678. 2
92090620679. 3
92090620680. 4

Question Number : 71 Question Id : 9209065231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which lenses have the ability to focus extremely close to objects and provide a greatly
magnified image. True macro lenses have a ratio of 1:1.

(1) Tele lenses (2) Zoom lenses
(3) Wide Angle lenses (4) Macro lenses
Options :

92090620681. 1
92090620682. 2
92090620683. 3
92090620684. 4



Question Number : 71 Question Id : 9209065231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

form e | <fidl W faega Fre 8 B # 9gd 991 8fd 59 i gua 2t 21 e
A6l /1 1 39 1:1 BT 2

(1) A «™ (2) = &=
3) fereefiol U wim 4) e F
Options :

92090620681. 1
92090620682. 2
92090620683. 3
92090620684. 4

Question Number : 72 Question Id : 9209065232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A method in which a viscous ink is passed through a screen, which holds an image or design
onto a substrate.

(1) Block printing {2) Offset printing
(3) Serigraphy printing (4) Digital printing
Options :

92090620685. 1
92090620686. 2
92090620687. 3
92090620688. 4

Question Number : 72 Question Id : 9209065232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

u yefa foamd foerm &% =1 v = § @ 0 9 R, S feef efa @ feamm =+ feh
man W T = @ @ —

(1)  =AT ffen (2) FwHe fufén
(3)  afmmhr fifen @) fefoew fufén



Options :

92090620685. 1
92090620686. 2
92090620687. 3
92090620688. 4

Question Number : 73 Question Id : 9209065233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A typeface that does not have serif strokes.

(1) Rockwell (2) Helvetica
(3) Bodoni (4) Trunp Mediaeval
Options :

92090620689. 1
92090620690. 2
92090620691. 3
92090620692. 4

Question Number : 73 Question Id : 9209065233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I8 2rEua foran ofw 2e 18 2

(1) Uwae (2) weEfe
(3) ErSH 4) o9 ufsfaas
Options :

92090620689. 1
92090620690. 2
92090620691. 3
92090620692. 4

Question Number : 74 Question Id : 9209065234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A unified configuration or pattern of visual elements whose properties cannot be derived from
a simple summation of its parts is called :-

(1) Chiaroscuro {(2) Gestalt Theory
(3) (Golden Ratio (4) Proximity
Options :

92090620693. 1
92090620694. 2
92090620695. 3
92090620696. 4

Question Number : 74 Question Id : 9209065234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THTS ol 1 U HHfed HARITE 41 ded e Uil @ 3Ee & wymw Im |
ud A8l T 91 Hehd, FEA™ &

(1) T 2) e fagm
(3) =g e (4) HTfEEET
Options :

92090620693. 1
92090620694. 2
92090620695. 3
92090620696. 4

Question Number : 75 Question Id : 9209065235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What term is used to describe the space between adjacent text columns

(1) Grids (2) Fractions
(3) Letter spacing (4) Gutter
Options :

92090620697. 1
92090620698. 2
92090620699. 3
92090620700. 4



Question Number : 75 Question Id : 9209065235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afa o HieTH % dd % TIH I 9qH & (o foha wreg &1 y@E fen S 2

(1) firgm 2) Trem
(3) o Tfgm 4) T
Options :

92090620697. 1
92090620698. 2
92090620699. 3
92090620700. 4

Question Number : 76 Question Id : 9209065236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The deliberate use of typography to express an idea visually, but by incorporating something
more than just the letters that constitute the word.

(1) Typography {2) Hologram
(3) Typogram (4) Pictogram
Options :

92090620701. 1
92090620702. 2
92090620703. 3
92090620704. 4

Question Number : 76 Question Id : 9209065236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fordft foram 1 gvaens ®9 @ IAfers w0 & e qgm Fen 1 gioia Iwm afe g
&g % feru smavas werl 8 5o Afus s 92 91 2

w =

(1) HeT =hedl (2) BrAME
(3) ZrR9mmy 4) To=eim
Options :

92090620701. 1
92090620702. 2



92090620703. 3
92090620704. 4

Question Number : 77 Question Id : 9209065237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While making Grid structure in layout Design, there are individual units of space separated
by regular intervals which, when repeated across the page format create columns & rows, are
known as:-

(1) Markers (2) Modules
(3 Margins (4) Manuscripts
Options :

92090620705. 1
92090620706. 2
92090620707. 3
92090620708. 4

Question Number : 77 Question Id : 9209065237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dx3e fegmm 8 fire g Foin w6 % fou fafia s g 9o =1 % @9 6 oea
shigal, T2 919 R 353 Wi # Hiew 3t dfehai s Hiere <o 9 2, T Heerd &

(1) ek (2) HrEgEH
(3) Wi (4) gt
Options :

92090620705. 1
92090620706. 2
92090620707. 3
92090620708. 4

Question Number : 78 Question Id : 9209065238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the incorrect answer from the following categories of advertising.

(1) Product Advertising (2) Institutional Advertising
(3) Advertising Agency (4) Financial Advertising
Options :

92090620709. 1
92090620710. 2
92090620711. 3
92090620712. 4

Question Number : 78 Question Id : 9209065238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o i fafafas g § 5 Tem 3 =1 999 Fifa;

(1) 3eeg fasme (2) HeamE fasmeE
(3) e uat 4) o faamE
Options :

92090620709. 1
92090620710. 2
92090620711. 3
92090620712. 4

Question Number : 79 Question Id : 9209065239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pictorial composition constructed by juxtaposing and superimposing a number of pictures,
elements or designs to form a new image is called

(1) Manipulation (2) Mondrian
(3) Montage (4) Moire
Options :

92090620713. 1
92090620714. 2
92090620715. 3
92090620716. 4

Question Number : 79 Question Id : 9209065239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

U T Bfd G Hfelw = T=w, dei J1 gl # Fee gaet aun 3enia w1
fafifa femmens =1 weardt 21

(1) e=dEa (2) "EAfgE=
3) i = (4) CIERETER FHIel
Options :

92090620713. 1
92090620714. 2
92090620715. 3
92090620716. 4

Question Number : 80 Question Id : 9209065240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A manufacturer-designed display distributed to retailers who use it to call their customer’s
attention to product promotion is known as:-

(1) Packaging (2) Trade Exhibitions
(3) Direct mail (4) Point of purchase display
Options :

92090620717. 1
92090620718. 2
92090620719. 3
92090620720. 4

Question Number : 80 Question Id : 9209065240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR a9 + U IR 1 e AT e & e e 2

(1)  Oesfem (2) AR esi=a
(3) Hidt ue 4) w9 = feuw
Options :

92090620717. 1



92090620718. 2
92090620719. 3
92090620720. 4

Question Number : 81 Question Id : 9209065241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Graphic structure used to organize the placement of individual elements within a design or
page.

(1) BLEED (2) BIG TYPE
(3) GRID (4) SILHOUETTE
Options :

92090620721. 1
92090620722. 2
92090620723. 3
92090620724. 4

Question Number : 81 Question Id : 9209065241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fereft feamm =1 g8 % #fi el acl & WA % Fafed W % e ggeE mies dwE
FEeTdl 2

(1) =i (2) fam 2y
3) fie 4) BEfm
Options :

92090620721. 1
92090620722. 2
92090620723. 3
92090620724. 4

Question Number : 82 Question Id : 9209065242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A print finishing material that is stamped on to a substract by using a heated die is called.

(1) Foiling {(2) Finishing
(3) Stamping (4) Duplexing



Options :

92090620725. 1
92090620726. 2
92090620727. 3
92090620728. 4

Question Number : 82 Question Id : 9209065242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 gv1 TRt arnft 5@ mi o8 & went et snar w = e = 2:

(1) wigfem 2) fwfafdm
(3) w=fEm 4) geAfaEm
Options :

92090620725. 1
92090620726. 2
92090620727. 3
92090620728. 4

Question Number : 83 Question Id : 9209065243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the wrong answer among the names of well-know cartoon characters.

(1) Minnie (2) Donald
(3) Jungle Book (4) Uncle Serooge
Options :

92090620729. 1
92090620730. 2
92090620731. 3
92090620732. 4

Question Number : 83 Question Id : 9209065243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



guferg & 9E1 & T T § Terd I Bl TE=

(1)  fsh (2) EHATS
3) T gH (4) 3FHe BB
Options :

92090620729. 1
92090620730. 2
92090620731. 3
92090620732. 4

Question Number : 84 Question Id : 9209065244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A form of advertising that uses vehicles such as buses & taxis to carry messages that a
circulate through the community.

(1) Bill boards (2) Kiosks
(3) Transit {4) Interactive
Options :

92090620733. 1
92090620734. 2
92090620735. 3
92090620736. 4

Question Number : 84 Question Id : 9209065244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagam =1 98 @, e 0 augE 0 w9 w1 vER w6 for wwi i i S e
&1 T feman o 8, = FEdAE 8

(1) fa= ey (2) eI
(3) TIfee (IX ) (4) TR TR (seufsea)
Options :

92090620733. 1
92090620734. 2
92090620735. 3
92090620736. 4



Question Number : 85 Question Id : 9209065245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identifying the organization they refer to using characters styled in such a way as to give an
identification of its strengths or culture is called

(1) Layout (2) Logotype
(3) Leading (4) Symbol
Options :

92090620737. 1
92090620738. 2
92090620739. 3
92090620740. 4

Question Number : 85 Question Id : 9209065245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

38 "3 ®l dgaT-e o fasi fd | 92 e 3 auil 1 T9e w1 % foe 3ga fen s 2
S 3EEHI qhel 41 HEH(A $ Tl 8

(1) &I (2) SRy
(3) fifEn (4) ST
Options :

92090620737. 1
92090620738. 2
92090620739. 3
92090620740. 4

Question Number : 86 Question Id : 9209065246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following options is not a magazine publication.

(1) India Today (2) Time
(3) Economic Times (4) Outlook
Options :

92090620741. 1
92090620742. 2



92090620743. 3
92090620744. 4

Question Number : 86 Question Id : 9209065246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa 9 9 S9-a1 faweg afFe yeem 8 gatim 78 2

(1) sfem = (2) 2rEH
(3) EEMIMEE T2HH (4) IF3TH
Options :

92090620741. 1
92090620742. 2
92090620743. 3
92090620744. 4

Question Number : 87 Question Id : 9209065247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It refers to the unigque characteristic of a colour that helps us visually distinguish on colour
from another is called

(1) Value (2) Tint
(3) Shade (4) Hue
Options :

92090620745. 1
92090620746. 2
92090620747. 3
92090620748. 4

Question Number : 87 Question Id : 9209065247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forerent dag @1 1 3ERE fagmar @ 2 51 Tl o @ &1 siiel § gEe g T H 3TE
qdl 8, F FHEAd 27

(1) "F (39) 2) =vivg (fe=)
3) TE () 4) = (27)
Options :

92090620745. 1
92090620746. 2
92090620747. 3
92090620748. 4

Question Number : 88 Question Id : 9209065248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who developed the Rotr printing machine in 1844

(1) Alois senefolder (2) Ira Rubel
(3) Ludwig {4) Richard Hoe
Options :

92090620749. 1
92090620750. 2
92090620751. 3
92090620752. 4

Question Number : 88 Question Id : 9209065248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teft fufén osfia =1 1844 1 anfaven fraa e ?

(1) A HI%est (2) T EEA
(3)  wfam (4) feag gm
Options :

92090620749. 1
92090620750. 2
92090620751. 3
92090620752. 4



Question Number : 89 Question Id : 9209065249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A series of holes that are either cut or purched into a substrate on printed or non printed
pager. So that the parts of the page can be torn & detached.

(1) Tracking {(2) Perforation
(3) Die cutting (4) Trimming
Options :

92090620753. 1
92090620754. 2
92090620755. 3
92090620756. 4

Question Number : 89 Question Id : 9209065249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et gfga 1 R-giza Frra W fordt el snaw 998 4 e #7398 F a9 T By
FEA Tl HFTHA 6 (&&= Pl HIST A1 e a1 Frh:

(1) eFem 2) Tozo (wHREE)
(3) =1 Hfem (4) wie-wie (fzfim)
Options :

92090620753. 1
92090620754. 2
92090620755. 3
92090620756. 4

Question Number : 90 Question Id : 9209065250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A printing process that uses the repulsion of oil and water to ink a plate which contains a
design, was discovered by Alois Senefelder around 1798 in pargue.

(1) Screen printing (2) Inkjet
(3) Block printing (4) Lithography
Options :

92090620757. 1



92090620758. 2
92090620759. 3
92090620760. 4

Question Number : 90 Question Id : 9209065250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ez i foaend feamam & o0ft wie W = @ % foe 99 3R 9t & faedor 1 s
o s 2, Tl @9 1798 & ATH9™ 9T § HAA29 HAherst g il 78 off:

(1) whE fufén (2) FHAL
(3) wATH fufdm ) Teremms
Options :

92090620757. 1
92090620758. 2
92090620759. 3
92090620760. 4

Question Number : 91 Question Id : 9209065251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An Art & Design school opened in 1919 under the direction of the renowned architect Walter
Gropius.

(1) Royal College of Art (2) Bauhaus school
(3 National Institute of Design (4) Art Deco
Options :

92090620761. 1
92090620762. 2
92090620763. 3
92090620764. 4

Question Number : 91 Question Id : 9209065251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



quftg ares areel Ak & fdeH § 1919 8 wiar-mn 318 woe fefies @&

(1) 9 Hioe (6 0 (2) ETIENE TR
(3)  AvHe sy #iE feamm (4) 3 fem
Options :

92090620761. 1
92090620762. 2
92090620763. 3
92090620764. 4

Question Number : 92 Question Id : 9209065252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s not the name of paper sizes available in market.

(1) Demy (2) Crown
(3) Cellotex (4) Imperial
Options :

92090620765. 1
92090620766. 2
92090620767. 3
92090620768. 4

Question Number : 92 Question Id : 9209065252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafes 0 9 9 4 3uere" FITd & ATHN w1 AW T8 2

(1) =i (2) THTEA
(3) Hclewd (4) zefifee
Options :

92090620765. 1
92090620766. 2
92090620767. 3
92090620768. 4

Question Number : 93 Question Id : 9209065253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A plan that shows the Arrangement of the different pages of a publication in print production.

(1) Image manipulation {2) Composition
(3) Layout (4) Imposition
Options :

92090620769. 1
92090620770. 2
92090620771. 3
92090620772. 4

Question Number : 93 Question Id : 9209065253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T IeaTeA H el WehTeH % HAST- 3T YE| Sl AT 1 S ATl TS FaeArd] a:

(1) =fa saema (38 aFHgEH) (2) HASHA (FHEIE)
@) HA3ME (4) rferdmon (zenfeem)

Options :

92090620769. 1
92090620770. 2
92090620771. 3
92090620772. 4

Question Number : 94 Question Id : 9209065254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An Electronic file format used for storing vector graphics that can be scaled by any size.

(1) PSD (2) EPS
(3) PDF (4) EXL
Options :

92090620773. 1
92090620774. 2
92090620775. 3
92090620776. 4

Question Number : 94 Question Id : 9209065254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

dF M & WISV & foTU W seideie WIse Wiie for| femeft oft smehm =61 Amasem
fepan =1 wepa 2:

(1) W@ (2) 3s.drum
3 s (4) 3.uEE.Td
Options :

92090620773. 1
92090620774. 2
92090620775. 3
92090620776. 4

Question Number : 95 Question Id : 9209065255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A spine of metal rings, which binds a document and allows it to open flat is known as.

(1) Comb binding (2) Open binding
(3 Case binding (4)  Wiro binding
Options :

92090620777. 1
92090620778. 2
92090620779. 3
92090620780. 4

Question Number : 95 Question Id : 9209065255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

arq Bl 1 Ieel, 9 fhel crarea & fieg | aigst wa@ & - 3 3 |9 @i dear 2,
ﬁ?’ﬂ?ﬂ%:

(1)  hiea ATEfEM (2) 3AT9a |mEfem
(3) &\ =i (4) =T 9EfEn
Options :

92090620777. 1
92090620778. 2
92090620779. 3



92090620780. 4

Question Number : 96 Question Id : 9209065256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A technique that typically involves the reduction of the outer boundaries of the image to focus
the attention on its main subject or to increase its dynamic tension.

(1) Photo cropping (2) Bleeding
(3) Creasing (4) Rule of third
Options :

92090620781. 1
92090620782. 2
92090620783. 3
92090620784. 4

Question Number : 96 Question Id : 9209065256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v e Tam A el ofa & ey @ § s w9 8 o9 g =i W am w5

snfirer 2:

(1) eI sifm (2) wefifém
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Options :

92090620781. 1
92090620782. 2
92090620783. 3
92090620784. 4

Question Number : 97 Question Id : 9209065257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The iconic graphic “T Love New York™ was created by

(1) Mathew Carter {(2) Margaret Calvert
(3) Max Miedinger (4) Milton Glaser
Options :

92090620785. 1



92090620786. 2
92090620787. 3
92090620788. 4

Question Number : 97 Question Id : 9209065257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“HTE TE =i A ufg Iifthe &1 g9 feed e

(1)  HZg H (2) WIE Heae
(3) Hew HT3fESR (4) fiees =
Options :

92090620785. 1
92090620786. 2
92090620787. 3
92090620788. 4

Question Number : 98 Question Id : 9209065258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A graphic-art medium that often involves the design of pictures and words arranged in
sequence to convey an idea, information or a narrative is called

(1) Commentary (2) Comics
(3) Composition (4) Conceptual [Mlustration
Options :

92090620789. 1
92090620790. 2
92090620791. 3
92090620792. 4

Question Number : 98 Question Id : 9209065258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(3) HAEH (FPIFI9H) (4) FEaTTeS faEm
Options :

92090620789. 1
92090620790. 2
92090620791. 3
92090620792. 4

Question Number : 99 Question Id : 9209065259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vibrant special colour that cannot be reproduced by combining the standard process colours
known as:-

(1) Fluorescent (2) Analogous
(3 Complimentary (4) Tertiary
Options :

92090620793. 1
92090620794. 2
92090620795. 3
92090620796. 4

Question Number : 99 Question Id : 9209065259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

vsh gedhien fauy 1, 59 A 9fshan Tn i gwifad #h F: OR 98 fma 1 |56 2,
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Options :

92090620793. 1
92090620794. 2
92090620795. 3
92090620796. 4



Question Number : 100 Question Id : 9209065260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An [llustrative representation based on the distortion, exaggeration and over-emphasis of a
person’s distintive characteristics.

(1) Graffiti {2) Collage
(3) Caricature (4) Calligraphy
Options :

92090620797. 1
92090620798. 2
92090620799. 3
92090620800. 4

Question Number : 100 Question Id : 9209065260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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g
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Options :

92090620797. 1
92090620798. 2
92090620799. 3
92090620800. 4



